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Serial Number
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1. The question paper will be given in the form of a Question Booklet. There will be four versions of

question booklets with question booklet alpha code viz. A, B, C & D.

2. The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet of the

question booklet.

3. The Question Booklet Alpha Code allotted to you will be noted in your seating position in the Examination

Hall.

4. If you get a question booklet where the alpha code does not match to the allotted alpha code in the

seating position, please draw the attention of the Invigilator IMMEDIATELY.

5. The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your

question booklet is un-numbered, please get it replaced by new question booklet with same alpha code.

6. The question booklet will be sealed at the middle of the right margin. Candidate should not open the

question booklet, until the indication is given to start answering.

7. Immediately after the commencement of the examination, the candidate should check that the question

booklet supplied to him contains all the 100 questions in serial order. The question booklet does not

have unprinted or torn or missing pages and if so he/she should bring it to the notice of the Invigilator

and get it replaced by a complete booklet with same alpha code. This is most important.

8. A blank sheet of paper is attached to the question booklet. This may be used for rough work.

9. Please read carefully all the instructions on the reverse of the Answer Sheet before marking

your answers.

10. Each question is provided with four choices (A), (B), (C) and (D) having one correct answer. Choose

the correct answer and darken the bubble corresponding to the question number using Blue or Black

Ball-Point Pen in the OMR Answer Sheet.

11. Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be deducted.

No negative mark for unattended questions.

12. No candidate will be allowed to leave the examination hall till the end of the session and without

handing over his/her Answer Sheet to the Invigilator. Candidates should ensure that the Invigilator has

verified all the entries in the Register Number Coding Sheet and that the Invigilator has affixed his/her

signature in the space provided.

13. Strict compliance of instructions is essential. Any malpractice or attempt to commit any kind of

malpractice in the Examination will result in the disqualification of the candidate.
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Total Marks : 100 Marks 

Time : 1 hour and 15 minutes 
 

1.     :       
 (A)       
 (B)    
 (C)      
 (D)    
 

2. ‘Khilafath’       
 (A)     

 (B)    
 (C)      

 (D)    
 

3.     ?        
 (A)  (B)  
 (C) Pampar (D)  
 

4.   SC/ST      
 (A) 14 (B) 2 
 (C) 10 (D) 4 

 

5.  ‘ ’      
 (A) Indigo   (B)   
 (C)   (D)   

 

6. ‘’         
 (A)     

 (B)   
 (C)    

 (D)   
 

7.     (Chairman)     
 (A)   (B)   
 (C)  (D) ..  
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8.     Act  1856      
(Reformer) ?        

 (A)   (B)   (Cama)  
 (C)   (D)    

 

9.       KIFBY 

  ?        
 (A)   (B)    
 (C)    (D) ... (DGP) 

 

10.     (Tribe)    ?  
 (A)  (B)  
 (C)  (D)  

 

11.        
 (A)  (B)  
 (C)  (D)  

 

12. ‘’    (Strike)   ? 
         

 (A)  (B)  
 (C)  (D)  

 

13.      (Front Usage)  
        

 (A) − (B) − 
 (C) − (D) − (Education)  

 

14.         
 (A)  (B)  
 (C)  (Leh) (D)  

 

15.          
 (A)   

 (B)  
 (C)   (Pampadam Chola)  

 (D)  
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16.    ‘  ’   

 (A)   (B)   

 (C)   (D)   

 

17.  (Cashless)     

 “The  App”       

 (A)      (B)   

 (C)   (Pay) (D)     

 

18.           

 (A)   (B)    

 (C)   (D)   

 

19.         
          

 (A)  (B)   

 (C)   (D)   

 

20.     “  
”          

 (A)  (B)  

 (C)  (D)  

 

21. “Nathula”  (Pass)        

 (A) − (B) − 

 (C) − (D) − 

 

22.          

 (A) 68°7’ −97°25’   

 (B) 8°4’  – 37°6’  

 (C) 12°8’ − 97°25’   

 (D) 8°4’  – 37°6’  



137/2017-T 6 A 

23.  (Konkan)       

 (A) − (B) − 

 (C) − (D) − 

 

24. “”           
 (A) 15555 (B) 1515 
 (C) 1414 (D) 14444 

 

25.         
         

 (A) 8 (B) 4 
 (C) 10 (D) 2 

 

26. ‘ ’    (Ananda Mat)   
        

 (A)  (B)  (Poem)  

 (C)  (D)  

 

27.       
        

 (A)   (B)   

 (C) U.P.S.C. (D)  

 

28. ‘Labour needs Compensation’   (Slogan)  ?  
 (A)   (B)    

 (C)   (D)   

 

29.       ?  

 (A) K.C.S.  (B) K.  
 (C)   (D)    

 

30. ‘ ’      ?   
 (A)    

 (B)   

 (C)  (Vagdadanandan)  

 (D) T.K.  
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31.         
  ?      

 (A)  (B)  

 (C)  (D)  

 

32.       ?  
 (A)   (B)   

 (C)   (D)   

 

33. K.P.R.        

 (A)   (B)  (Morazha)  

 (C)    (D)   

 

34.     A.O. Hume     

 (A)    

 (B)    

 (C)     

 (D)   

 

35. Nai-Talim        
 (A)  (B)  

 (C)  (D)  

 

36.   (Neel Darpan)  ?      

 (A)   (B)    

 (C)    (D)    
 

37.        
        

 (A) 32    (B) 29    
 (C) 17    (D) 21      

 

38.   ‘ ’  ?  
 (A)  (B)   

 (C)  (D)  
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39.    (RTI) ,    ,  
        
.        

 (A) 500 . (B) 250 . 
 (C) 1000 . (D) 100 . 
 

40.           
 (A)   (Instructional Philosophy)  

 (B)   
 (C)    

 (D)   
 

41.        
 (A) D.K.  (B) G.G.   
 (C) C.   (D)    

 

42.    ?     
 (A)  (B)  
 (C)  Tahr (Wild Goat) (D)   

 

43. ‘’      ?  
 (A)  (B)  
 (C)  (D)  
 

44. ‘’ (Chakara)    ?     
 (A) Red Sea (B)   
 (C)  Sea (D) Caspian Sea 

 

45. −      ?   
 (A)  (B)  
 (C)  (D)  
 

46.         
   :       

 (A)   

 (B)  (Vigilance) 

 (C)    (Ombudsman)  

 (D)  
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47.        
         

 (A)    

 (B)    
 (C)     

 (D)    

 

48.         
.        

 (A) , ,   

 (B) , ,  
 (C) , ,  
 (D) , ,  

 

49. 2016         
?        

 (A)   

 (B)   
 (C)     

 (D)   (Manhole)  

 

50.      :        
 (A)  (B)  
 (C)  (D)  

 

51.        
 ?        

 (A)   (B) V.T.  
 (C)  (D)  

 

52.            
 (A)  (B)  
 (C)  (Thista) (D)  (Looni) 

 

53.         
 (A) Sub Coastal  (B) Coastal  
 (C)   (D)  (Islands) 
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54. ‘   − ’     
 ?        

 (A) 4 (B) 10 
 (C) 8 (D) 6 

 

55.     ?     

 (A)    

 (B)  

 (C)      

 (D)      

 

56.      ? 

          

 (A)  (B)  

 (C)   (D)  (Limestone) 

 

57.   “Surrogacy  ” 2016 ?  

 (A)  ()  

 (B)    

 (C) −    

 (D)   (Ceasarian)   

 

58.    Grand Master       

 (A)   (B)   

 (C)   (D) S.L.  

 

59.    (Sports Day)  ?     

 (A) 26  (B) 9  

 (C) 13  (D) 1  

 

60.      :   

 (A)   (B)    

 (C)   (D)   
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61. Do you mind _____ me your pen to sign this document ?  

 (A) giving (B) given 

 (C) give (D) will give 
 

62. Rano went to the shop to buy a new dress for her as she has _____ her old ones.   

 (A) grown back of  (B) grown apart of  

 (C) grown up of  (D) grown out of  
 

63. While visiting Egypt I went to see _____ Nile.   

 (A) a (B) an 

 (C) the (D) no article 
 

64. If I hadn’t run from there, _____.  

 (A) the snake will kill me (B) the snake would have killed me 

 (C) the snake would kill me (D) the snake have killed me  
 

65. Nobody saw it, _____ ?  

 (A) did they (B) do they 

 (C) didn’t they (D) don’t they 
 

66. Select proper one word substitute for “an impartial person who watches for administrative abuses 

inside organizations”.  

 (A) Philanthropist (B) Ombudsman 

 (C) Turncoat (D) Reticent 
 

67. Find out which part of the sentence has an error. 

 Both Raj’s father and mother was angry with him when he quarrelled with his sister.  

 (A) Both Raj’s father and mother (B) was angry with him 

 (C) when he quarrelled with his sister (D) No error 
 

68. What does the expression “au fait” mean ?  

 (A) actually existing but not legally  (B) in the open air 

 (C) familiar or acquainted with  (D) a classy party 
 

69. Choose the word which is MOST nearly the same in meaning as the given word : 

 Inclination  

 (A) Convey (B) Turbulent 

 (C) Balance (D) Tendency 
 

70. I have been working in this school _____ 2006.  

 (A) for  (B) from 

 (C) until (D) since 
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71. Change the given sentence into indirect speech : 

 Anil asked Anu, “Are you going to see your grandmother” ?  

 (A) Anil asked Anu whether she is going to see her grandmother. 

 (B) Anil asked Anu whether she was going to see her grandmother. 

 (C) Anil asked Anu whether she had gone to see her grandmother. 

  (D) Anil asked Anu whether she will go to see her grandmother.  
 

72. You have high fever. You _____ see the doctor.  

 (A) should have (B) will 

 (C) should (D) do 
 

73. I shuffled the _____ while playing.   

 (A) deck of cards (B) pod of cards 

 (C) cluster of cards (D) flock of cards 
 

74. Choose the word opposite in meaning to the given word : – Opaque  

 (A) Right (B) Private 

 (C) Transparent  (D) Visible  
 

75. _____ had I reached the stadium, than the match started.  

 (A) Either (B) Neither 

 (C) Both (D) No sooner 
 

76. Rewrite the sentence given starting with : A pen _______. 

 Rani gave me a pen.  

 (A) A pen was given to me by Rani. 

 (B) A pen is given to me by Rani. 

 (C) A pen has been given to me by Rani. 

 (D) A pen is being given to me by Rani. 
 

77. Find out the compound word used in the sentence. 

 My father wears a _____ when he goes to office.   

 (A) wears (B) goes 

 (C) necktie (D) office 
 

78. All my friends _____ Jiya called me on my birthday.   

 (A) except (B) axpect 

 (C) accept (D) exept 
 

79. Choose the correctly spelt word.  

 (A) Changeable  (B) Cheingable 

 (C) Changable (D) Cheingeable 
 

80. What does the underlined idiom mean : 

 So many employees got the axe as the company was undergoing financial crisis.  

 (A) out of one’s mind (B) have no idea 

 (C) lose the job (D) angry and overcome  
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81.         
?    

 (A) 2 (B) 4    

 (C) 8 (D) 16 
 

82.      150°     ?  

 (A) 10 (B) 6    

 (C) 8 (D) 12 
 

83.    , ,  4:2:5.   2560  ..  
  ?  

 (A) 4 (B) 20   

 (C) 11 (D) 12 
 

84. (4)
–1/2 ´ (27)

–1/3 ´ (36)
1/2 = _________     

 (A) 1 (B) 3    

 (C) 2 (D) –1 
 

85.  25     750 , 13  
 ?  

 (A) 15 (B) 20    

 (C) 25 (D) 30 
 

86.     152 ..     
   151 .   ?    

 (A) 150 (B) 149    

 (C) 145 (D) 143 
 

87. (1, 3) (6, 8)      ‘p’    2:3  
 ,   ?  

 (A) (3.5, 6.5) (B) (7, 11)    

 (C) (3, 5) (D) (5, 5) 
 

88.    , ,  5, 7, 12  .   
     ?  

 (A) 5 (B) 7    

 (C) 12 (D)    
 

89.    30°, 60°, 90°. 90°    12 ..              

60°    ?  

 (A) 6 3 (B) 6 2    

 (C) 
12

2
  (D) 

12

 3
  

 

90.   ,   ,   
.     6 .,  8 

. .      ?  

 (A) 10 (B) 6    

 (C) 8 (D) 2 
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91.       ?  

 (A) 39 (B) 37    

 (C) 31 (D) 40 
 

92.   ,   6 .  
        3  
.   ?  

 (A) 3 (B) 6    

 (C) 5 (D) 4 
 

93.     .  6  
.    ,  10  
.        
  ?  

 (A) 7 (B) 12   

 (C) 15 (D) 16 
 

94. 8%      30,000   ?  

 (A) 250 (B) 200    

 (C) 300 (D) 225 
 

95. 45 ´ 40 ´ 25 ´ 16    

 (A) 30 (B) 25    

 (C) 35 (D) 40 
 

96. | x + 5 | = | x – 3 |  x  ?  

 (A) – 1 (B) 1    

 (C) – 2 (D) 2 
 

97.    25.  2   5 .   
  ?  

 (A) 75 (B) 50  

 (C) 125 (D) 25 
 

98.     : 3, 16, 25, 9   

 (A) 25 (B) 9 

 (C) 3 (D) 16 
 

99. 3M = 729 , 3M–2  =  _______ ?    

 (A) 27 (B) 243 

 (C) 81 (D) 9 
 

100. x = 
1

2
 , y = 

1

3
    

x + y

xy
 ?     

 (A) 5 (B) 6   

 (C) 3 (D) 2 

_______________ 
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